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1.

Three

(r)
(iD

(a) Explain

(b) With a

(c) Explain

Or

(a) Compare Carnot cycle with Rankine cycle (with T-S diagram). [4]
(b) State the advantages of Reheat cycle. 141
(") A simple Rankine cycle works between 28 bar and 0.06 bar.

The initial condition of steam being dry and saturated.

C a l c u l a t e :

\Ll \,YCle e[lclencv

(il) Work ratio

/ ; ; ; )  q q rr

\,onsloer leeo pump worK.
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SECTION I

I]MT 1

fluidised bed combustion.

neat sketch, explain Orsat apparatus.

Bomb calorimeter with a neat sketch.
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3. (o)' Write a short

: I-'NIT 2

draught. t6l

{ i )  Impulse steam turbine

(ir) Reaction steam tuibine'

Name at teast 4 high Prqssure boilers.
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(b)

(c)
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coal
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(o) Classify
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UNIT S

r.-,{vnalar,irl'ic nower Plants.

short nbte .on Draft tdbe'

^^.,^-nino nf Pelton wheel
6 u Y  ! r r l r i r t t  " _  

- with a neat sketch.

\ a )

raTR '_111

State

siare

plant and

[81

Or

^ ' ' 'oelectric 
Powcrf,he essential elements or nyqr

function of each element'
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(b) What do you mean by ?

tL t nyqrogTapns

lrl) water hammer

( i i i )  e r i r o o  i " . L

riu) catchment area.

.SECTION II

UNIT 4

List

plant

State

State

plant:

t8l

7. (a) Explain the following related to nuclear reactor :

rr ) Moderator

(ii) Reflector

(lil) Coolant

(iu) Control Rod.

\o) utasslty nuclear reactors.

I c I Uxptarn pWR with a neat sketch.

t61

I4l
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8. (a)

Or

the various auxiliaries syster.ns of cliesel electric power

and explain arry oze in rletail. tQl

the advantages and disadvantages of breeder reactor. [6]

thc various starting systems of diesel electric power
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w w
 w

 . s
 t 

u p
 i d

 s 
i d

 . c
 o 

m



9; (o) Explain

(b) List the

. turbine

. cur/es.

(c) Write a

14)

efficiency of gas

with perforrnance

short note on Gas turbine materials.

t81

t4I

10. (a)

11. (a)

(6)

Or

Wri te short  notes on:

lL) .t'uel cells and its applications

(ii) MHD generator [10]

Compare gds turbine plant over steam turbine plant. t61

I]NIT 6

A 60 MW power station has annual peak load of 50 MW.
'I'he power station supplies loads having max.. demands of

20 MW, 17 MW, 10 MW and 9 MW. The annual load factor

is 0.45. Find :

(r, Average loao

(ii, Energy supplied/year

(lil) Diversity factor

(lu) Demand factor.
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